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4 12 10

SEAE A
dotn oHHAQ B2 = B
TS MO 2 (4= SEIA)

CHB .S (B) - HRAY - BAS Ol & 04 SSa HDS2
—-SxFL 400,000 +3E + 12 14,400
- REILH 150,0002 *2E *123] 3,600
- HdEFLT 180,000 +3Z * 128 6,480
- PHEIYLF 150,000 *3E *123] 5,400
— oL 500,000 *55 2,500
OFIIotEPEINH (2L/HY4T) 16,922
—=22 129, 1402 * 12 1,550
- 2FHLE 329,0002 * 12 3,948
—2FHLH 192,0002 * 12 2,304
- 2EILET 112,000 12 1,344
- S H 329,0002 * 12 3,948
- HFLH 112,000 x 12 1,344
- 207,0002 128 2,484
Oatsg Sg@eldE Sl 46,997
— Aot A E 3 H| 1,246,3002 *13] 1,247
— AR 42 300,0002*12¢ 3,600
— LI HHHAUE =42
500,0002 * 122 6,000
—2oHH Y =52 320,0002 * 12 3,840
—CCTVEZUE 28 380,0002 * 12 4,560
— MI| LU A EH RXH 5,200,0008 13 5,200
— HESAAILEH XY 5,000,000 «13] 5,000
— XD, G S AXH 550,000 «122 6,600
—&staE 23 150,0002 * 12 1,800
— W) ®AH| 150,000 *21CH * 13 3,150
—Ma=x HAH 900, 0002 *23] 1,800
— S ASH| 350,0002 123 4,200
202 04 H 5,000 14,880 A9,880
01 2U 04l 5,000 14,880 A9,880
OF4E AN&EESHH 3,600,000 3,600
OBNHEE S & £HZA SEFY
1,400,000 1,400
206 T 2 144,100 412,644 N 268,544
01 24 144,100 412,644 A 268,544
OFLZ ASAE 7Y 122,500
-5 H4E XE ASH 5009 110,000kg 55,000
— 501 H+& S& M (HIBPAHCS2020)
5002 *105,000kg 52,500
— 50 H4E 232 M (NT-515)
600! 25, 000kg 15,000
ORFZ+F ARHE 7Y 250,000 +18F 4,500
ORFHLT AESQ HI AQE 1Y
450,000 6 CH 2,700
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SN ee
) PS
ot

Hu: oXGD AHFHO %2 2 22
Hel: =2 MUKAI L (M5 SEFH) (2 &E)
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
ORFE+E 2HANE A% & ZL4J|2 7
2 250,000& x2&«12& 6,000
Osgzeldyd 3485 2¥
50,0003 x14&5+128 8,400
401 A& HI R 201 I 811,088 0 811,088
01 A& HI 811,088 0 811,088
S2EMYEL FXUHE =4 811,088
— & AIZ A HI 180,000,000& 6. 16% 11,088
— EXIHL I 865,800& 924 m’ 800,000
HESE AMEs 22 350, 146 995,600 A 645,454
401 Al&HI & 28I 333,946 977,700 A 643,754
01 A& HI 333,946 975,885 A 641,939
2FFHT 2UEA UPS WA
3,000,000 *20H 2~ 6,000
OSEZ2Z(BHL)EAN 28I 262 M
5,000,000 *20H 2~ 10,000
OSEHLT +HTUY SEDA
833,333& x180m’ 150,000
ORFH+H 2HE A= BZ ZXSA
100, 000& *100m 10,000
OREE+E IM=+ &3 EXSM
35,174,000 =14 35,174
OREE=F =3I WHMSA 30,532
—JIHA ESII(EHE)  24,200,0009 «10H 24,200
—SEAZTHA 3,200,000% =124 3,200
— Qo EdEdED 3,132,000 = 1CH 3,132
ORSE+T &dXg SYLH SA 6,240
— by 2 100,000& *40m 4,000
—ZFgE= 2,240,000 = 1CH 2,240
OREF+T MK EZT AF
6,000,000 » 14! 6,000
OfREFZT == BZH 4X
20,000,000 =14 20,000
OHEELE NS B2TA
100, 000& »300 m* 30,000
OUNE+S SEW #3 2ZZA
300,000& =100 m’ 30,000
405 RHoHF S HI 16,200 17,900 A1,700
01 AL EZFH S 16,200 17,900 A1,700
OSEH4T 4FEI 22(0IHI8)
10,000, 000& 1CH 10,000
OREILT 0S4 Sl 7
2,200,000 = 1CH 2,200
OREZF+Z FED 2 (HHlE)
2,000,000& »2CH 4,000
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2N
X ZH -
L= B

el

TEEEINSPA
OFGHD QWO AL B B
SES MM} BA(YAE SHIN)

SN FH-SA(EH) - MBAY - BES

Off &t A

=

i
2m

BHIZAMNE (EE . 0tHelAE) §AS8EE2]

=

AW

632,000

316,000
316,000

401 AIEBIZ S CHYI

H A

632,000

316,000
316,000

632,000

01 Al&H|
0218 BHIZANE(RF L&, HEBLT,
PEGHEHRIT) B2 |

— & AIE A8

\J
|

632,000,000& *5.89%

— A& H| 2,534,925& +57Kw*4H £

02 Zeldl

OZeldl 632,000,000& *2.66%

MW

HH

MW

615,188

615,188
37,225
18,612
18,613

577,963

288,982

288,981
16,812
16,812

8,406
8,406

615,188

16,812

0y
12
0z
1
Y
pal
o
=

M

39,534

27,674
11,860

38,763

771

101 1A dl

UL

36,649

25,655
10,994

35,982

667

t
8,720 »5A| 2++0.999 »4H 8

33,622,000 *9%

EUNL

M H

M H

UL

36,649
36,649
26,649

18,656
7,993

5

3
1

,580

,906
674

,394

975
419

3,026

,118

908

35,982

667

e}
2
ne
=
M0
02
=

EUNE

2,885
2,019

866

2,781

104

0K
H0
02
=

O o
V]
19
0z
1>
o
>
o
[=)
20
02
O
>
[=s

44,2503 x4 «8E

2,

1,

885

416

2,781

104
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2A: HSS A A
H: oMot OHAAO 92 2 =2
G =252 MAAD B (AT ELESH) (&)
SH-HH . B(SH) - HBAMY - BES ofl &k o SSa HDE2
== 991
= 425
OZAM+E N0 2Y AABRT L4
45 ,906& »4H »8& 1,469
< 1,028
= 441
Netaae B3 E SAH(MEE SEIH) 8,727,943 4,958,850 3,769,093
= 6,199,000
= 2,528,943
IS I3 A 302,950 490,850 A 187,900
401 Al B 2 0HHI 280,000 413,000 A 133,000
01 Al&H| 280,000 413,000 133,000
OJEZ24E3AH(04A) 280,000
—2F5 823 A 700,000& x25& 17,500
— A0 JIEZEZBA 700,000 x15& 10,500
— 20 JIIEZS=Z2AM 700,000& x15& 10,500
—HdFH JIEZSE=3A 700,000 x30& 21,000
— IS IIESE=Z3AM 700,000 x15& 10,500
— O8N JIEZS+BAMNEE, S22,
g§3) 700,000& *200& 140,000
— 240 ™SSBT AH(EE, D)
700,000& *100& 70,000
405 XHo&HF SHI 22,950 77,850 A54,900
01 JHMY 2 E F S H 22,950 77,850 A54,900
O2=Z 0D 2 (ML) 22,950
—2Fz5 £ 0HI 2 45,000& *50H4 2,250
— AN 2Z0/HI P2 45,000& *30H4 1,350
— 229 £T0HI 2 45,000& *30H4 1,350
—4&dF3H =Z0/gHI P2 45,000& * 1004 4,500
— Ot £Z0IHI 2 45,000& *200H 9,000
— 240 £20/gHI 2 45,000& = 1004 4,500
Negaec 25 1,068,993 56,000 1,012,993
401 AIEHIL 200 1,068,993 56,000 1,012,993
01 A& HI 1,068,993 56,000 1,012,993
fFE SEXF N THEFHALY
100, 000& *200m 20,000
OO0l X7 NLaE A
1,500,000,000& x7.28%+*1.45 158,340
OSSN AL SSAMY
500,000,000 *x8.27%*1.45 59,958
O&aRIIE2 AL SSAMH
100,000,000 It &t & 1414333, 333& *750m 350,000
Oetd AtN~F20t2 Kot S ALY
100,000,000& * It &t & 1414242, 780& *250m 160,695
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SN SeSAYA
g otdotn ¢E AR A2 =2 35
Sel NYMAT BB FA(YAE SHIH) EEREED
SA - BB B (BA) - MM - BHES Ol &t o4 SSa HmEET
OArEOIES X &dot=S SHSAY
60,000,000& It 2+ & 1414260, 000& *1,000m 320,000
2L SHEMEBESINLAIS (HSAY) 3,300,000 2,000,000 1,300,000
< 3,300,000
401 AIEHI L 2CHEI 3,300,000 2,000,000 1,300,000
< 3,300,000
01 A& HI 3,117,845 1,592,800 1,525,045
OEREXN T SHELEEINL ALY
155,892.25& 20, 000m 3,117,845
= 3,117,845
02 Zteltl 177,955 400,000 A 222,045
OUNHRH P SOHELHELNL AL
1,280,491& %138.974 177,955
S 177,955
03 AlE 2 THHI 4,200 7,200 A 3,000
OUHRLXT SHESB S L ALY
3,500,000,000& 0. 12% 4,200
= 4,200
TEHAUR SHEMEELNL AL (HESALY) 3,856,000 2,000,000 1,856,000
= 2,699,000
s 1,157,000
401 Al HI L 2T 3,856,000 2,000,000 1,856,000
= 2,699,000
[ia 1,157,000
01 A& Hl 3,595,426 1,392,800 2,202,626
OREXF SHEMESIHEAZ
1,198,475.3& 3,000 m 3,595,426
= 2,516,698
s 1,078,728
02 Zeltl 260,574 600,000 A 339,426
OTRENT SHENEBLN LAY
1,723,635& %151.177& 260,574
< 182,302
s 78,272
PEEENT SHEUEES NS AL (HEAY) 200,000 412,000 A 212,000
< 200,000
401 AIEHI L 20HYI 200,000 412,000 A212,000
< 200,000
T A& HI 199,160 409,033 A 209,873
ORFHANT SHEMSBELNLAL
199, 160& *1,000m 199,160
< 199,160
03 AIE 2 THHI 840 2,967 A2, 127
ORFHHND SOHEMHELNLAY
99, 160,000& *0.4217% 840
S 840
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A 2L
HME: oFs] IO A 2 B3
Sl XBALE R4E FH (LT SN CERED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Ngass a8 (4 SE3H) 11,393,367 11,712,789 A319,422
2 898,598
= 4,580,000
= 953,298
= 4,961,471
22 uA 2 22 499,085 2,850,069 A2,350,984
401 AIEHIZ 2 0HHI 499,085 2,850,069 A2,350,984
01 A€ HI 499,085 2,833,299 A2,334,214
OXHd ANE ==Xl == S22 uH 155,097
— 2 AIEHH 143,249,324 *8.27% 11,847
— Al £HI 358, 123& *400m 143,250
OFdH(MEYP2~EEHE) =& Stz 1
A 114,653
— & AIEAH 1,386,372,420& +8.27% 114,653
OR=S(aHn~HaHY &8F) == =2
mpy| 91,050
— & AIE A 1,100,955,260% *8.27% 91,050
OL=AEINA A ¥ 0&3AM 51,000
—FF8 ERAEINE UHSA
600, 000& »357H £ 21,000
—F3Y LSAHEINE WHSA
600,000& =150 £ 9,000
— 2% LSAHEINE WHSA
600, 000& »25JH & 15,000
—otdH LSAHEIE WHSA
600,000 =109 & 6,000
OXRYH NF/EZU/SFel AHFBFANAE
253,000& 3458 87,285
ANegate=E SUHIALS 9,159,000 8,501,000 658,000
= 4,580,000
= 916,000
s 3,663,000
403 TtXI M SA=01A 9,159,000 8,501,000 658,000
= 4,580,000
= 916,000
= 3,663,000
02 SJ2SotHetHtEH 2 E AL b 9,159,000 8,501,000 658,000
OXga=E WAL 457,950& x20,000m 9,159,000
= 4,580,000
S 916,000
T 3,663,000
ANga=E 224 409,087 361,720 47,367
401 AlEHIZ 208 409,087 350,000 59,087
01 A€ dl 406,050 347,480 58,570
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2N HS2AMEL
B oXGD AHFHO g2 2 22
S NYALE S48 SN (MALEE SEEH) (2 &)
SN ED B (3H) - MEAY - BAS 0l &k o8 ﬁlf& HD=2
ONE8+E s2=2 =M
1,772,100 *94 4 A~ 166,578
OXAMREY A2 25 RH EX 2A
5,217,391& x 16l A~ 83,479
Ozgt2tzg X & 22 0|48 SAt
439,000& *287m 125,993
OL&EASE WAH & B4
3,000, 000& 104 A~ 30,000
03 AlE 201 | 3,037 2,520 517
ONYHLE STERTN
166,577 ,400& *0.72% 1,200
ONyRY A2 15 2N &3 A
84,000,000& *0.72% 605
Ozgttzg X & 22 0|48 3At
126,000, 000& *0.72% 908
OLZ43d DM L 22
30,000,000& *1.08% 324
EESR AT AIE THlERALY 149,195 0 149,195
= 74,598
= 37,298
= 37,299
401 AlEHIZL 201 Y| 149,195 0 149,195
= 74,598
= 37,298
= 37,299
01 Al& H| 149,195 0 149,195
OMMHAT NYALE S+22 BLTA
230,000& *x399.391m 91,860
= 45,930
= 22,965
= 22,965
ONYMLT HoaB2 FL2A
230,000& %249 .28m 57,335
= 28,668
= 14,333
= 14,334
AQIE 2222 1,050,000 0 1,050,000
= 735,000
= 315,000
401 Al HIZL 201 Y| 1,050,000 0 1,050,000
= 735,000
= 315,000
01 Al&H| 1,003,624 0 1,003,624
OA A& HHI 2,784,000,000& *6.75% 187,920
= 131,544
iy 56,376
ORF32 AQIE 2222 AFY
81,570,400& 1090 £ 815,704
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e g
0Z 110
> o

0 MHo
=
M o 2
Jo o b
4> 13

Mo re
00

BCI
o> M
o> 1
i 0B
Jim

s
=

[=Z]
=

A

fon

SN HH-S(BN) - MBAY - B il HlnE2

= 574,613
s 241,091

02 Zeltl 41,204 41,204
OZeltl 2,784,000,000& = 1.48% 41,204
2 28,843
[ia 12,361

03 Al =2 THHI 5,172 5,172
OAIZ S HHI 820,876,000& *0.63% 5,172

P 222 127,000 127,000
= 89,000
s 38,000

401 Al HI & 28I 127,000 127,000
= 89,000
s 38,000

01 A& HI 126,085 126,085

ORFZ &2 =HEIY

15,760,625& «8H £ 126,085
= 89,000
s 37,085

03 AIE 2 0HHI 915 915
OAIE = HHI 127,000,000& *0.72% 915
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